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5.43 

Έχουμε :  2     

, , 2
    

                   
   

 

1

, , 2

         
           

   
 

Επειδή όμως   , 1
 

     
 

     και    , 1
 

     
 

 

αναγκαστικά  , , 2
    

          
   

 

ενώ για να ισχύει η ισότητα θα πρέπει : 

, 1
 

     
 

   και   , 1
 

     
 

 

          και          

   

Επίσης είναι μοναδιαία , άρα έχουν ίσα και τα μέτρα τους ( ίσα με 1 ) 

Οπότε       

 

 

 


